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QID : 1 - In the following question, select the related word from the given alternatives.
Sheep : Lamb:: Cow: ?

el f@d v & fow 10 ashed] & & Heftia Use I gAv|

AT AAAT: : M : ?
Options:

1) Kitten
Toreei T sTar

2) Cub

MICED

3) Calf

EEXEN

4) Caterpillar

gﬁ.ﬁ

Correct Answer: Calf
EEXE)

Candidate Answer: Calf
EEXEN

QID : 2 - In the following question, select the related letters from the given alternatives.
PRAG: QTDK: : STOP: ?

Tl g & 18U 10 fashed] & & Heftia 3R I gv|

PRAG: QTDK: : STOP: ?

Options:

1) LMNP

2) BDFE

3) TVRT

4) QSTG
Correct Answer: TVRT
Candidate Answer: TVRT

QID : 3 - In the following question, select the related number from the given alternatives.

562:30::663:7?

TeAferi@d gt & v 910 fashedt # & Heftra dean 1 giav|
562:30::663:7?

Options:

1) 44

2)49

3)54

4) 58
Correct Answer: 54
Candidate Answer: 54

QID : 4 - In the following question, select the odd word from the given alternatives.

TEATeriae 91 & U 91 fashedt # & fawer oree; I AT

Options:
1) Cricket
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frre

2) Carrom

A

3) Table Tennis

e fd

4) Chess

ST

Correct Answer: Cricket

[EL TS

Candidate Answer: Cricket
fopehe

QID : 5 - In the following question, select the odd letters from the given alternatives.

Terfa i yee o few 1w fashed! & & fawer 3Rl 1 gfv)
Options:

1) IMX

2) DHS

3) GWK

4) KOz

Correct Answer: GWK
Candidate Answer: GWK

QID : 6 - In the following question, select the odd number pair from the given alternatives.

Terfafd g o few a1v fashedt & & fave dear g &1 giav]
Options:
1) 122 -1331

2) 173 - 2197
3) 197 — 2744

4) 290 — 4913
Correct Answer: 173 — 2197
Candidate Answer: 173 — 2197

QID : 7 - Arrange the given words in the sequence in which they occur-in the dictionary.
1. Xenons

2. Xylyls

3. Xanthic

4. Xenians
5. Xyst

TrAfa T ersel T Aseehier 3 3= aTel e & AR fod|

1. Xenons
2. Xylyls
3. Xanthic
4. Xenians
5. Xyst

Options:
1) 34125
2) 34521
3) 43251

4) 51342
Correct Answer: 34125
Candidate Answer: 34125

QID : 8 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
LOQ, SVX, ZCE, ?

Teh 3TTehe 18T 91T B, ToIa O Ueh Ue ofed &1 feu 910 fashedl & & g @eY [ashed YT, ST 3ifshe a1 Q0 |

LOQ, SVX, ZCE, ?

Options:

1) GlL

2)GU

3) GTL

4)ILG
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Correct Answer: GIL
Candidate Answer: GIL

QID : 9 - In the following question, select the missing number from the given series.

13, 27, 56, 115, ?

el yea & 1w 10 fashed] & & ofod 3ieh A1 S|

13, 27, 56, 115, ?
Options:

1) 224

2) 231

3) 233

4) 234

Correct Answer: 234
Candidate Answer: 234

QID : 10 - Sumitra remembers that her mother's birthday is after 13th February but before 16th February but her brother remembers that his mother's birthday is
after 14th February but before 17th February. On which date Sumitra's mother's birthday will be celebrated?

IR T AT & TR SeTehT FTAT T STrTeaT 13 GG & 16 eAfehel 16 FRaLT & Tgel 3T § WHiehet 3T 371 Y I1G, & 7o SeTehl AT 1 S et 14 BRall & ale fehed 17
A F T AT §| e TR T GIAAT AT T oA e AT STwe?
Options:

1) 13t February

13 Wl

2) 14t February

14 BT

3) 15t February

15 wadr

4) 17 February

17 walr

Correct Answer: 15" February

15 wRar

Candidate Answer: 15th February
15 TRaEr

QID : 11 - There are five energy drinks - Red, Moto, Energy, Lion and Bull containing different range of sugar content. Moto having sugar content more than all other
drinks. Energy having the sugar content only more than the Lion. Bull is not having sugar content more than the Red. Which of the following drink having the second
most sugar content?

i Foll 97 - 38, AL, Tetoll, Arael qar gor 3 Aelt 1 741 fBiear-fieer §1 Ay 3 et & 7/ 3o it 9t i Jore 37 qaw AU §1 weAol 7 el S A Fad drgeT
ﬁaﬁ%%lgﬂﬁmﬁmﬁﬁaﬁaﬁﬂﬁﬁl ﬁmﬁ@aﬁﬁﬁmﬁﬂwﬁa@frmmiﬁ?ﬁaﬁmﬁ?
Options:

1) Bull

g

2) Energy

TSI

3) Red

=

4) Moto

Arer

Correct Answer: Red

=

Candidate Answer: Red

=

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.

CALCULATING
Teu 91T et #, e e faeut & & a8 Ueg YIAT St G 7T 2reg & 3ERT T TIWT e 78] A1 T ST Fehel 81

CALCULATING

Options:

1) GAIN

2) TANING

3) TALL

4) CULT

Correct Answer: TANING

Candidate Answer: TANING
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QID : 13 - In a certain code language, "WILDHORN" is written as "1133" and "RAPTURE" is written as "1089". How is "PORTLOUIS" written in that code
language?

s fafrse g #1T 7, "WILDHORN' &Y "1133" 2 "RAPTURE" &Y "1089" for@T ST €1 59 15 $T9T & "PORTLOUIS" & fhd YR for@r smeen?
Options:

1) 1395

2) 1485

3) 1584

4) 1595
Correct Answer: 1595
Candidate Answer: [ NOT ANSWERED ]

QID : 14 - If "A" denotes "subtracted from", "B" denotes "added to", "C" denotes "divided by", "D" denotes "multiplied by", then which of the following statement is
correct?

I "A" &1 31 "TerE” g, "B" o 3 "Slis” B, "C" T 31 AT §, "D & 3 "aqom” §, o et F @ sl | welemor | 82

Options:

1)3A12B16D17C1 =163

2)5C7A9D8B2=2%

3)13C13A13B13D13 =157

4)18C16 D49 A 27 B9 =200
Correct Answer: 13C13A 13B13D 13 =157
Candidate Answer: [ NOT ANSWERED ]

QID:15-f9* 2*5=23and 1 * 4 * 8 = 29, then
1*%¥6*3=7
IE9*2*5=23Far1*4*8=29%, dr

1*6*3=7?

Options:

1) 19

2)21

3)31

4) 39

Correct Answer: 19

Candidate Answer: [ NOT ANSWERED ]

QID: 16 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

eafoiea vy & g 7 fofeur & ¥ uw =g
(?) % TUE W H - FE&A A g

Options:
1) 48

2) 52
3) 55

4) 58
Correct Answer: 58
Candidate Answer: 58

QID:17-
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How many triangles are there in the given figure?

& T Agia # foheer g €

S

-

Options:

1) 20
2) 23
3)24

4) 26

Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 18 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be

at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

L. All LED are bulb.
II. Some bulbs are not tube light.

Conclusions:

L. Some tube lights are LED.
II. All LED are tube lights.

el fu 1T gea A Fo Y IR 3ok F1g 377 HYAT W IR T forseny 8w 10 €, grefifeh 378 Aea 7M1 a2l  eaicll g Fehelt &1 Folt forsehd o 3R o

frefifta &Y o fow 710 i & forsen, fow a1 sveredt o MR o gfFased &1

HY:

L asfroe. $. 3 soa €1
IL. F 9o I IS A8 8

sy

L $& <gd de va. §. 3. §
IL @8 ver. §. 3. g s B

Options:
1) Only conclusion (I) follows.

el forseny (1) FET R

2) Only conclusion (II) follows.

el forsend (1) WEY B

3) Neither conclusion (I) nor conclusion (II) follows.

& ar fseny (1) aor o & fsey (1) FEr gl

4) Both conclusions follow.

At € sy T g

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.

o & fse (1) F2r o & fsey (1) T 1

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

o o TSy (1) e o & sy (1) Ter 2

QID: 19 -
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Three positions of a cube are shown below. What
will come opposite to face containing ‘a’?

& T ue fr i s il it g ude
g o F Rwle v W ala @ uie R
HTI?

Options:
1)B

2)d
3)n

4)0
Correct Answer: 0
Candidate Answer: 0

QID : 20 - Identify the diagram that best represents the relationship among the given classes.

Pet animals, Dog, Cat
a5 3N AT S oA Ru 21w qait o o & Farer o7 Fe) w0t e 81

Tere] STaR, Feal, el
Options:

1)
3)

QD

4

2)

Correct Answer:

Qv

Candidate Answer:

QID: 21-
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Which answer figure will complete the pattern in the
guestion figure?

i H 3 FFA TH NPT & IasT H QU

HLMN?
?
Options:
1)
2)
3)
a)

Correct Answer:

Candidate Answer:

QID: 22-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3 ampfaal F ¥ 3w aefa & gaw
orm & wy 3pfa Bfea &

@

Options:
1)
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Correct Answer:

Candidate Answer:

3)

|~

4)

T 7
og g
L7

Correct Answer:

T I
LI
L

Candidate Answer: [ NOT ANSWERED ]

QID: 24 -
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If a mirror is placed on the line AB, then which of
the answer figure is the right image of the given
figure?

Ify U SUUT A AB @ WX @I AT, &t & aTE
IO AT A F HiF W HPpfa Uy A A
Ter ufafasa 2refre

A

ng

m

Options:
1)

0

2)

&0

3)

0

4)

-
Correct Answer:

&0

Candidate Answer:

=Y

QID: 25-
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘Z' can
be represented by 87, 99, elc., and ‘T can be represented by 69, 95, elc
Similarly, you have to identify the set for the word “MAZE”.

U QMG Had Th HEAT-HAR e gfar I g ol B Resedt # @
et e & R mn ¥ RAwedt & Bu v dwm-mep sawt & & at
ERT geiie 7w §, St o " Gu o g aeqpt & ¥ WegE & T
Ay dfer i dear o | 4 & §, IR Imeypn A 5 A 91 37 IRy A
U EH @ Ugel 380 Ul AR aig # T dwar grn g @ g
BGIEA0T & T ‘2° Y 87, 99, HIMS GRT GRAT S Hhadl & T T @l 69,
05, Ffg grr gefar S daar B =l oXE ¥ I us A RU v Rg
“MAZE” & foIT Tp = uegEar g

Matrix-1 Matrix-ll
Hige- -l

alwlm =
QOO = =|e
B Q| O|O| =
[glke piE-4lal LY
OO O| | w
QB Z| OO &
L=l iio) Bt | el 4

—| C| N| M| ] o
M| | C|N|®
i m | =~
| = C| N| M|
MM | | ) ©

Options:
1) 00, 41, 99, 96

2) 12, 04, 56, 58
3) 24, 22, 88, 65

4) 43, 10, 69, 77
Correct Answer: 00, 41, 99, 96
Candidate Answer: 12, 04, 56, 58

QID : 26 - What does indifference curve represent?

3ETTS ek T SRiTdT &7

Options:

1) Levels of Income and Capital

I T Yol &R

2) Satisfaction derived from two goods

& aeg3it & gred Hgfse

3) Income from two businesses

&Y SATIRT § yTed 37

4) Relationship between expenditure and savings
ST TAT AT T HIY

Correct Answer: Satisfaction derived from two goods
ar aE3 ¥ e wfte
Candidate Answer: [ NOT ANSWERED ]

QID: 27 -

2

Options:
1) 1-c, 2-b, 3-a

2) 1-b, 2-¢, 3-a
3) 1-a, 2-b, 3-c

4) 1-a, 2-c, 3-b
Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: 1-b, 2-c, 3-a

QID : 28 - India has taken the concept of 'Judicial Review' from which country's constitution?

AR FiaUTeT 7 ‘FATRieh GeRIadlehel’ T Jrailel fohef =7 o AiaereT & foram arar §?
http://thepracticetest.in/cs_cglet1_17kdsponse |quastiondphp il Towo e Sappid213éa0szdtah0nfsos iz thcdoe3ssse 10/25
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Options:
1) United States
HFT T
2) United Kingdom
1SS fhersH
3) Canada
ETICH
4) Ireland
3RRAUs
Correct Answer: United States
HgFd T
Candidate Answer: United States
HFT T

QID : 29 - How many times a person can be elected as the President of India?

IS cafed AR o Togafel & e TR frctelt IR AT S HefelT 27
Options:

1) One time

Th IR

2) Two times

ar R

3) Three times

GIGKCIN

4) No bar

S e Tt

Correct Answer: No bar
IS HIAT TG

Candidate Answer: No bar
IS TAT AE

QID : 30 - Who shot dead John Saunders on 17th December 1927?

17 feFaR 1927 1 JAleT Aiesd HT fohae gear T &1 47
Options:

1) Bhagat Singh

serd g

2) Mangal Panday

HITS q1U3

3) Sukhdev

gaea

;) Bipin Chandra Pal Singh

R o5 aer g

Correct Answer: Bhagat Singh
s e

Candidate Answer: Bhagat Singh
sraTd g

QID : 31 - Sardar Vallabhbai Patel was the leader of

TIER Tocld HTg geT T 30T |
Options:

1) Bhoodan Movement

S[eeT 3Teeletet

2) Rowlatt Satyagraha

eI TARIE

3) Bardoli Satyagraha

TR AT

4) Swadeshi Movement

TRl 3Mearers

Correct Answer: Bardoli Satyagraha
IRl HeATRE

Candidate Answer: Bardoli Satyagraha
INETel HeARE

QID : 32 - Which type of forests majorly comprises of lichens and mosses?

fohE TR 3 geT AT AdTelt o 1 I o= g &2

Options:
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1) Taiga forests
& aT
2) Tundra forests
§U$T del
3) Temperate mixed forests
FALMNAISOT aeT
4) Tropical ever green forests
ISUTRTCTHRT TEEER
Correct Answer: Tundra forests
gograd
Candidate Answer: Tundra forests
gugradt

QID : 33 - Which of the following has maximum diurnal temperature difference?

At & & g & AaaTeT & oY gaifis gar &?
Options:

1) Desert

HEEI

2) Mountains

qad

3) Plateau

Yo

4) Ocean

AR

Correct Answer: Desert
HEEIA

Candidate Answer: Desert
AR

QID : 34 - Night Blindness is caused by deficiency of which of the following Vitamin?

fafaa & o frg Raf@s Hr F# & sror @l adr g?
Options:

1) Vitamin B

erf@e &t

2) Vitamin C

@ &t

3) Vitamin K

afda &

4) Vitamin A

ICIECRY

Correct Answer: Vitamin A
affa v

Candidate Answer: Vitamin A
CEIGCAY

QID : 35 - The right portion of human heart receives blood.

AT T FT e HET Tl Ted AT &1
Options:

1) pure

g

2) impure

3

3) mixed

Afaa

4) None of these

ST W IS TGS

Correct Answer: impure
I

Candidate Answer: impure
g

)

QID : 36 - Which of the following is the largest gland in human body?

Ffaf@a & @ Fia A RR i [ereas i g?

Options:
1) Thyroid
ey
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2) Liver
S
3) Kidney
I

)

4) Pancreas

IR

Correct Answer: Liver
IS Ciry

Candidate Answer: Liver

™R

QID : 37 - On which principle does the hydraulic lift works?

garafare forde e fargiar ov i el §2
Options:

1) Newton's law

e F fagid

2) Pascal's law

IR & gl

3) Archimedes's law

s & e

4) Joule's law

S & fRreia

Correct Answer: Pascal's law
IRher & fagia

Candidate Answer: Pascal's law

IRl & gl

QID : 38 - At what temperature (in degree celsius), the numerical values on Celsius and Fahrenheit scales become equal?

g agarT (Bl afeaaw &) R afeaad aur BRegET The TR 3RIT AT THTA &1 SI1d 87

Options:
1) 40

2) 40
3)273

4) -273
Correct Answer: —40
Candidate Answer: —40

QID : 39 - In MICR, what does 'T' stands for?

MICR & 3refared &9 & 'T o1 &7 318 &2
Options:

1) Interactive

HaEIHSR

2) Information

LT

3) Ink

T (5)

4) Instruction

e

Correct Answer: Ink
T (§)

Candidate Answer: Ink
TN (5)

QID : 40 - What is the process of conversion of solid state directly to gaseous state called?

A 3aer & W ey sraver F aRade Hr uihar H Far w82
Options:

1) Evaporation

IS icaus

2) Condensation

FereteT

3) Sublimation

3cdTcsT

4) Distillation

A deT
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Correct Answer: Sublimation
EicT)
Candidate Answer: Sublimation
ERGICT]

QID : 41 - What are the main components of Bronze Alloy?

T (sTor) THH U1 1 7T aeeh H F §?
Options:

1) Copper and Zinc

JfaT 2T ST

2) Copper and Tin

GIEUGEIRC)

3) Zinc and Nickel

ST AT kel

4) Aluminium and Nickel

SegAias aur feeher

Correct Answer: Copper and Tin
GIEUGEIRC

Candidate Answer: Copper and Zinc
qlaT 2T ST

QID : 42 - Which of the following causes fly ash?

Tl fld & & i a1 337 TQ FH FROT §?
Options:

1) Hydroelectric Power Station

Ster faegd Fofl e

2) Coal Combustion Power Plant

PRI SgaT ol oy

3) Nuclear Power Plant

AP Foll TIT

4) Tidal Power Plant

I St @IT

Correct Answer: Coal Combustion Power Plant
FIIAT EBT Fail o

Candidate Answer: Coal Combustion Power Plant

PRI ST Foll Ty

QID : 43 - "Dulari Kanya", a scheme to bring down infant mortality in the state is launched by which Indian State?

T A R o X # Fll o & TN 'Gefly hear ATt vy T oF & T 82
Options:

1) Arunachal Pradesh

3T Te=T

2) Rajasthan

T Tt

3) Uttar Pradesh

3T TeRm

4) Madhya Pradesh

FET J=r

Correct Answer: Arunachal Pradesh
3T TE=T

Candidate Answer: Uttar Pradesh
3T TeRm

QID : 44 - Who developed the theory of relativity?

ameTaT s Rgia Faa g Far ar

Options:
1) Issac Newton

ITEAD LA

2) Charles Darwin
e SIfdeT

3) Marie Curie
Hah

4) Albert Einstein
3TeaC TSEET

Correct Answer: Albert Einstein
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3TeaC TSEET
Candidate Answer: Albert Einstein
3TeaC ST

QID : 45 - 'Queensbury rules' is code of rules that directly influences which of the following sport?

'Fiegeadl AIH' v AadaE § S R f@a § @ e @ 9w der garma sradr 82
Options:

1) Tennis

e

2) Boxing

ez

3) Polo

qrer

4) Billiards

[EICEE

Correct Answer: Boxing
HFhaTSI

)

Candidate Answer: [ NOT ANSWERED ]

QID : 46 - Who amidst the following is a distinguished painter?

Ffaf@a # @ Fia v JfRktse R &2
Options:

1) Uday Shankar

3G QAT

2) Sonal Mansingh

Aol ARG

3) Amrita Shergill

3T W

4) Yamini Kirshnamurthy

AT eomfd

Correct Answer: Amrita Shergill
3T W

Candidate Answer: Amrita Shergill
3T W

QID : 47 - Who among the following was awarded with Padma Shri 2017 in the field of 'Sports - Hockey'?

TAeTerid 7 & T Wol-glehr o &1 & 2017 o U A1 qEhR & HEATIAT fohar I §?
Options:

1) Sardar Singh

weR

2) P. R. Shreejesh

Y. 31X, Serer

3) Ramandeep Singh

WAAT AT

4) Yuvraj Walmiki

ATt arfesreht

Correct Answer: P. R. Shreejesh
ot 3R, Aerer

Candidate Answer: [ NOT ANSWERED ]

QID : 48 - "Hema Malini : Beyond the Dream Girl" is authored by which author?

" IS : R3S & 9T T R e/ TR qaRT foreh 7 2
Options:

1) Meena Iyer

T 37T

2) Hema Malini

GIGIEG

3) Ram Kamal Mukherjee

TH FA HGH

4) Vijay Kumar

s AR

Correct Answer: Ram Kamal Mukherjee
TH FH HGSH

Candidate Answer: Ram Kamal Mukherjee
TH FA HGSA
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QID : 49 - A 7500 mile direct rail link was launched on 10 April 2017 between China and .

dTTAT___ F AT 10 310 2017 H T 7500 FHrer T T I Tk TaIa famam arm am|
Options:

1) Pakistan

qiferEareT

2) Kazakhstan

FHoNITehedT

3) Great Britain

foreet

4) France

-

Correct Answer: Great Britain
foreet

Candidate Answer: Great Britain

et

QID: 50 - 19t SAARC Summit was planned to be held in November 2016 but it got postponed. Which country was its host?

19 a7 | FHFACI FaFaT 2016 3 §AT TH 3T AT T T& TN &Y I1AT 2AT| PleT AT &R0 I HfelleT T2
Options:

1) Nepal

AqTer

2) Bhutan

Ere

3) India

HART

4) Pakistan

qifeRereT

Correct Answer: Pakistan
qiferedret

Candidate Answer: Pakistan
qifeREareT

QID : 51 - Product of three consecutive odd numbers is 1287. What is the largest of the three numbers?

et sheATITeT TaVH T3 1 U 1287 &1 ol HEAT3H # & Tad o3 &1 it A §?
Options:

1)9

2) 11

3) 13

4) 17
Correct Answer: 13
Candidate Answer: 13

QID : 52 - 45 men or 60 boys can do a piece of work in 20 days. How many days will 15 men and 20 boys take to complete the work?

45 &Y T 60 o5 Teh A ¥ 20 Tl &F U el &1 15 & T 20 S5 36 ) A O e 7 e et o
Options:

1) 23

2) 45

3) 30

4) 25

Correct Answer: 30

Candidate Answer: 30

QID : 53 - How many spherical balls of radius 1 cm can be made by melting a hemisphere of radius 6 cm?

6 T.HY. ST aTer Ueh 319l T frarame 1 3.8, 35 $r Frae MR 3¢ 18 51 TohdT &7

Options:
1) 112
2) 108
3) 116
4) 104

Correct Answer: 108
Candidate Answer: [ NOT ANSWERED ]

QID : 54 - The marked price of a shirt is Rs 1280. If the shirt is being sold for Rs 900, then what is the discount percentage?
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T AE F 3R e 1280 T §1 ARG 38 AC 1 900 T 4T A1 &, A Fe wfAed F=w§?

Options:
1) 31.31
2) 25.57
3) 29.68
4) 34.36

Correct Answer: 29.68
Candidate Answer: 29.68

QID : 55 - The ratio of number of cans of orange, pineapple and mixed fruit juices kept in a store is 8 : 9 : 15. If the store sells 25%, 33.33% and 20% of orange,
pineapple and mixed fruit juices cans respectively, then what is the ratio of number of cans of these juices in the remaining stock?

TRl $TUSR B 3 T AR, 3Tl U1 TP Well & T8 o fSeall T it o7 3791 8 : 9 : 15 &1 I AR, 3Ty cvar TATAT hell o T & shaver: 25%, 33.33%
FruTzo%iés—q”rﬁ%ﬁaﬁraﬁﬁ%,ﬁﬁgwﬁrﬁ#%ﬁaﬁrﬂwwa@mw%‘?

Options:

1)1:1:2

2)6:6:13

3)12:15:19

4)4:9:13

Correct Answer: 1:1:2

Candidate Answer: [ NOT ANSWERED ]

QID : 56 - The ratio of number of boys and girls in a class is 2 : 3. The average weight of boys and girls in the class is 18 kg and 21 kg respectively. What is the
average weight (in kgs) of all the boys and girls together?

Teh hETT H TS T TSThT T HEATIHT T T 2 @ 3 & &l H oTSehl TUT AsTehdl 1 JicTer R shaAer: 18 foh.am. aom 21 .3, &1 Faft STseht cram ofsfenat &1 ool
3itaa aR (fr.am. &) Fr g?

Options:

1) 99/5

2) 101/5

3) 109/6

4) 96/5
Correct Answer: 99/5
Candidate Answer: 99/5

QID : 57 - A milk merchant buys 50 litres of milk at the rate of Rs 40 per litre and mixes 5 litres of water in it. If he sells this mixture at the rate of Rs 42 per litre,
then what is the profit percentage for the dealer?

T gY SATIRY 50 e GU T 40 & Yl ofiex T T § TGaT & a9 359 5 ofiet urll e &ar §1 afe @ 3 56 Haor &1 42 T 9 et 1 X & S=rar g, ar amy
gfrere aam §?

Options:
1)17.2
2) 14.4
3) 16.6
4) 15.5

Correct Answer: 15.5
Candidate Answer: [ NOT ANSWERED ]

QID : 58 - If A is 6 times more than B, then by what percentage is B is less than A?

I1& A, BH 6 T[T 51T &, AT B, A fohctel Sctere & 82

Options:
1) 64.82

2) 83.33
3) 28.56

4) 85.71
Correct Answer: 85.71
Candidate Answer: 83.33

QID : 59 - A runner starts running from a point at 6:00 am with a speed of 8 km/hr. Another racer starts from the same point at 8:30 am in the same direction with
a speed of 10 km/hr. At what time of the day (in p.m.) will the second racer will overtake the other runner?

T YT T fdeg & 6:00 alea (T, UA) W 8 fon.#ll. ufey ver &y a1fey & Sigetr et oetr 1 g@r erareh 3¢ g & 8:30 qellet (U. wh) WX A o # 10 fon s, iy
der dr a1y & Slselr GReT AT 81 e & e wo T (3rawrest /) qEr Uraeh Ugel Ulas § Y Hener Sdem?

Options:
1) 8:00

2) 4:00

3) 6:30
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4) 5:30
Correct Answer: 6:30
Candidate Answer: [ NOT ANSWERED ]

QID : 60 - A sum amounts to Rs 7727.104 at the rate of 12% per annum compounded annually after three years. What is the value of principal (in Rs)?

T TR 12% H af¥er e & 3 99 15 a1 TSNS A T 7727.104 T g1 S0 ¢ | FALT T AT (3 H) FAT5?

Options:
1) 5000
2) 5200
3) 5350
4) 5500

Correct Answer: 5500
Candidate Answer: [ NOT ANSWERED ]

QID : 61 - When [x + (1/x)] = 5, then what is the value of [x — (1/x)]?

S [x + (1/%)] = 5 &, @ [x = (1/%)] 1 & 7 82
Options:

1) 11

2) £V22

3)21

4) £+21

Correct Answer: +v21

Candidate Answer: [ NOT ANSWERED ]

QID: 62 - If x = (V2 + 1)/(V2 — 1), then what is the value of (x® +x* +x2 +x)/x3 ?

FREx = (V2 +1)/(V2-1) & ar (4 +xt +x2 +x)/x3 T AT FATE?
Options:

1) 40

2) 37.5

3)38

4) 20V2

Correct Answer: 40

Candidate Answer: 40

QID: 63 - If x = 5 — 2V/6, then what is the value of Vx +1/vx)?

I x =5-2v6 &, A v H1/VX) T HT FIT§?
Options:

1)5

2)2

3)2v3

4)2v2

Correct Answer: 23
Candidate Answer: 2V3

QID : 64 - If 27% + 271x~(1/3)] = 972, then what is the value of x?

fg 27% + 270x-(1/3)] = 972 &, &Y x 1 AT FATE?
Options:

1)2

2)3

3)4

4)5

Correct Answer: 2

Candidate Answer: 3

QID : 65 - The inradius of a equilateral triangle is 10 cm. What is the circum-radius (in cm) of the same triangle?

U HASTE Fa{et B 37T B2 10 .40, &1 34 Rt i arear B (@40, #) Frg?
Options:

1)5

2) 10V3

3)20

4) 20V3

Correct Answer: 20

Candidate Answer: 20

QID : 66 - The point of intersection of all the angle bisector of a triangle is of the triangle.

7T & 0l & RGeS forw foig o) farera €, 38 Mgt wed ¢

Options:
1) Incenter
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I
2) Circumcenter

IR
3) Centroid

ALY Fg

4) Orthocenter

TFT g

Correct Answer: Incenter
FHFg

Candidate Answer: Incenter

3l :3hg;

QID : 67 - ABC is an equilateral triangle and P is the orthocenter of the triangle, then what is the value (in degrees) of 2BPC?

ABC Teh FaTaTTg 81T & 1T P fe1sT 7 ofot by &, A 2BPC o1 a1 (el ) aram &2

Options:
1) 90

2) 120
3)135

4) 145
Correct Answer: 120
Candidate Answer: 120

QID : 68 - In a triangle ABC, AD is angle bisector of zA and AB : AC = 3 : 4. If the area of triangle ABC is 350 cm?, then what is the area (in cmz) of triangle ABD?

Ts 37T ABC 3, AD, £A &1 HHGASIS § dATAB : AC = 3 : 4 §1 9% 315 ABC &7 &ttt 350 &.311.2 &, &Y 3377 ABD &7 avawhe (9.51.2 31) /T §2

Options:

1) 150

2) 200

3) 210

4) 240

Correct Answer: 150

Candidate Answer: [ NOT ANSWERED ]

QID : 69 - A boat is sailing towards a lighthouse of height 20v3 m at a certain speed. The angle of elevation of the top of the lighthouse changes from 30° to 60° in

10 seconds. What is the time taken (in seconds) by the boat to reach the lighthouse from its initial position?

TS AT U AT °rel & 20V/3 FHleX ST FT1S aTel Ueh oI1ST 8139 ol W oI TET &1 1SE 8139 & W B8 A F7 31a=Td hioT 10 U3 7 30° § 60° 3 gRafdd &

m%lmmmﬁmqu@%ﬁﬁm#mmwm(ﬁﬁﬁ)mm

Options:

1) 10

2) 15

3)20

4) 60

Correct Answer: 15
Candidate Answer: 60

QID : 70 - What is the value of [sec 6/(sec 6 — 1)] + [sec 6/(sec 6 + 1)] ?

[sec 6/(sec 8 — 1)] + [sec B/(sec 6 + 1)] T HATF 4T §?
Options:
1)2sin? @

2) 2(1 +tan2 @)
3)2 cosec? 8

4) sin2
Correct Answer: 2 cosec? 6
Candidate Answer: 2 cosec? 6
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QD: 71-
If cosec 8 = % + x, then what is the value of

cosec 8 + cot 87

Ilﬁ!;cosece=%+x €, dl cosec 6 +cot 6 &l
AT 4T &7

Options:
1) 3x

2) x
3) 4x

4) 2x or 1/(2x)
Correct Answer: 2x or 1/(2x)
Candidate Answer: 2x or 1/(2x)

QD:72-

L

The runs scored by Pujara against South Africa is more than runs scored against Bangladesh by what percentage?

YSIRT R ETaT0T 30RTeHT o fawg a1l 31T & Siaelieel & e i 910 it @ el e i 82

Options:
1) 100
2) 150
3) 200
4) 250

Correct Answer: 200
Candidate Answer: 200

QID: 73 -

|*

If Pujara has scored 1875 runs in total, then what is the difference in runs scored by Pujara against South Africa and New Zealand?

TGN % [t A<l 7 A1 B o FEAT 1875 B, AT SfaToT 3nhiE TUT wgels % FaEE TSIRT SaRT ST 7T AT K e AT I §?

Options:
1) 150
2) 175
3) 200
4) 250

Correct Answer: 150
Candidate Answer: 150

QD: 74 -
e
What is the sectorial angle (in degrees) made by the runs scored against Australia in the given pie chart?

U 71w gea R & JRforam & fawg 91w 710 @i &7 gea@us Hior (B ) = §?

Options:
1) 106.8

2) 109.6
3) 112.4

4) 115.2
Correct Answer: 115.2
Candidate Answer: 115.2

QID: 75-
e

What should be the least number of runs that Pujara must have scored in total (runs can only be integers)?
GSIRT Z&RT SR 97T el oAl 1 ATl o § FH Fhcall gt =RV (I Farel quiieh &1 Hehel §)?

Options:
1) 25
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2) 225
3)375

4) 625
Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No error'.

I am vexed at him (1)/ for what all he has (2)/ done for him till date. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 4

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No error'.

The Manager warned his team members (1)/ that if they persist in their (2)/ obstructionist attitude they would be punished. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Both taciturn and , Daniel seldom spoke and never spent money.
Options:

1) wary

2) cheap

3) discreet

4) miserly

Correct Answer: miserly

Candidate Answer: miserly

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

He was too to make a statement before the Boss.
Options:

1) shy

2) tired

3) timid

4) coward

Correct Answer: timid

Candidate Answer: timid

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Reiterate

Options:

1) Abuse

2) Pretend

3) Detest

4) Repeat

Correct Answer: Repeat
Candidate Answer: Repeat

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Nincompoop
Options:

1) Wise

2) Fool

3) Lover

4) Companion

Correct Answer: Fool

Candidate Answer: [ NOT ANSWERED ]

http:/thepracticetest.in/cs_cglet1_17kesponise |questiolelshim il Teworivinanca gapgpid=1a6a062u al0nos A7z 12cd023885¢ 21125



9712017 Download More PapesteiseeetongammisionovtJobsAlert.In

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Pellucid

Options:

1) Torpid

2) Explicit

3) Murky

4) Limpid

Correct Answer: Murky
Candidate Answer: Murky

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Adamant

Options:

1) Rigid

2) Flexible

3) Fixed

4) Unshakable

Correct Answer: Flexible

Candidate Answer: [ NOT ANSWERED ]

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

To wrangle over an ass's shadow

Options:

1) To waste money over trifles

2) To punish a person severely for his arrogance
3) To quarrel over trifles

4) To keep away from extreme poverty

Correct Answer: To quarrel over trifles

Candidate Answer: To waste money over trifles

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Make one's flesh creep
Options:

1) To confuse someone
2) To flatter someone

3) To abuse someone

4) To frighten someone

Correct Answer: To frighten someone
Candidate Answer: To frighten someone

QID : 86 - Improve the bracketed part of the sentence.

Father (would have been appreciated) your efforts if you had informed him.
Options:

1) would be appreciated

2) would have appreciated

3) should have been appreciated

4) No improvement

Correct Answer: would have appreciated
Candidate Answer: would have appreciated

QID : 87 - Improve the bracketed part of the sentence.

Neha was (surprised by) her result.
Options:

1) surprised to

2) surprised from

3) surprised at

4) No improvement

Correct Answer: surprised at
Candidate Answer: surprised at

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Study of tumors

Options:

1) Oenology

2) Oncology

3) Phrenology

4) Upology

Correct Answer: Oncology
Candidate Answer: Oenology

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.
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The highest point
Options:

1) Tempest

2) Outpost

3) Archive

4) Zenith

Correct Answer: Zenith
Candidate Answer: Zenith

QID : 90 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Literary

2) Leakeage

3) Laudable

4) Loafer

Correct Answer: Leakeage

Candidate Answer: Leakeage

QID : 91 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Anasthetic

2) Obliterate

3) Concurrence

4) Blithesome

Correct Answer: Anasthetic
Candidate Answer: Anasthetic

QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: Yet making loans to poor people is hardly a Poverty cure.

Q: Segmenting the industry, might be worth while if it allows more of the poor to get access to credit.
R: Multinational corporations could take the top microfinance institutions to the next level, and the remainder could take the responsibility of development groups and
regional banks.

S: Property rights and the role of law matter too.

Options:

1) PRQS

2) QRPS

3) SPQR

4) RSPQ

Correct Answer: QRPS

Candidate Answer: QRPS

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: But the scenario has quite changed now-a-days by allocating a special budget of funds for security.

Q: In the last ten years, budget towards the development of military forces is higher when compared to others.

R: India earlier days gave more importance to the development of industry and less importance to other departments.
S: This is because of the frightening increase in terrorism all around the world especially emerging after the 9/11 terror attack in U.S.
Options:

1) PRQS

2) SPQR

3) QSPR

4) RPSQ

Correct Answer: RPSQ

Candidate Answer: RPSQ

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses the
same sentence in Passive/Active voice.

One should keep one's word.

Options:

1) A word should be kept.

2) A word should be keeping.

3) One's word has to be kept.

4) One's word should be kept by us.
Correct Answer: A word should be kept.
Candidate Answer: A word should be kept.

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

The old man said, "Thanks I shall never forget this kindness, Ankit."

Options:

1) The old man applauded Ankit for his kindness and he shall never forget Ankit.

2) The old man thanked Ankit and assured him that he would never forget his kindness.
3) Ankit was being thanked by the old man for his kindness towards an old man.

4) The old man said thank you to Ankit for his kindness.
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Correct Answer: The old man thanked Ankit and assured him that he would never forget his kindness.
Candidate Answer: The old man thanked Ankit and assured him that he would never forget his kindness.

QID : 96 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

National integration means all the people of the nation into a single whole. 1t is a that bends together all people in one bond no matter what their
religion, caste, language or history may be. Itis a cementing force whereby all kinds of people live peacefully and can identify themselves as a part and
parcel of a nation.

National integration means
Options:

1) segregating

2) combining

3) residing

4) complying

Correct Answer: combining
Candidate Answer: combining

all the people of the nation into a single whole.

QID : 97 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

National integration means all the people of the nation into a single whole. 1t is a that bends together all people in one bond no matter what their
religion, caste, language or history may be. Itis a cementing force whereby all kinds of people live peacefully and can identify themselves as a part and
parcel of a nation.

Itisa that binds together
Options:

1) sentiment

2) resources

3) essentials

4) finances

Correct Answer: sentiment

Candidate Answer: sentiment

QID : 98 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

National integration means all the people of the nation into a single whole. Itis a that bends together all people in one bond no matter what their
religion, caste, language or history may be. Itis a cementing force whereby all kinds of people live peacefully and can identify themselves as a part and
parcel of a nation.

all people in one
Options:

1) real

2) common

3) nominal

4) similar
Correct Answer: common
Candidate Answer: common

bond no matter what their religion, caste, language or history

QID : 99 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

National integration means all the people of the nation into a single whole. 1t is a that bends together all people in one bond no matter what their
religion, caste, language or history may be. It is a cementing force whereby all kinds of people live peacefully and can identify themselves as a part and
parcel of a nation.

Itisa cementing force whereby all kinds of people
Options:

1) weakening

2) natural

3) strong

4) settled

Correct Answer: strong

Candidate Answer: strong

QID : 100 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

National integration means all the people of the nation into a single whole. 1t is a that bends together all people in one bond no matter what their
religion, caste, language or history may be. It is a cementing force whereby all kinds of people live peacefully and can identify themselves as a part and
parcel of a nation.

live peacefully and can identify themselves as a part and parcel of a nation.
Options:

1) separately

2) jointly

3) happily

4) together
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Correct Answer: together
Candidate Answer: together
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